Name:

PreAP Electricity In Class Review

Period:
1. Decide which of the wires has the most resistance. 4. Series or Parallel?
A. A wire at 5°C OR a wire at 15°C. A. Devices have the same voltage.
B. A thick 2m wire OR a thick 2cm wire. - B. Resistors connected this way takes less current
C. A th}ck 2cm long. wire OR a thln 2cm long wire? from the battery.
D. A wire made of silver OR a wire made of copper? . . .
C. If connected this way the light bulb with the
2. What do we call a substance with no resistance at very least resistance is brightest.
low temperatures? D. Resistors connected this way will draw more
current from the battery.
10mA l /2m A 3. Whatis the gnknownf E. Devices have the same current.
A e omne ou e F. ___If connected this way the light bulb with the
\ ] ’ greatest resistance is brightest.
? l 8mA G. Occur after a junction.
5.  Ammeter, voltmeter, or ohmmeter? N\
B
A. Meter A: D. Meter D: N
B. Meter B: E. Meter E:
C. Meter C: F. Isvery fragile. T 0 60
G. Isplaced in series.
H. Is placed in parallel. 6Q <E>
I.  Will not work if a battery is connected. — 1
o 3Q 30
6. What does meter A read?
7.  What does meter B read?
8. What does meter C read?
9. What does meter D read?
10. How much work is done by a 18 V battery to move 6 C 11. How long does it take a 100 W light bulb to use up
of charge? 25 joules of electrical energy?
12. How much current flows thru a 6 kQ resistor in 4 minutes | 13. A circuit is protected by a 20 A fuse. What is the
if it is connected to a 9V battery? maximum charge that can move thru the fuse each second?
14. A 60 W light bulb is hooked up to a 120 V outlet. 15. A 100 Q resistor has 0.5 A flowing thru it. How much
A. How big of a resistor is it? energy does it dissipate each minute?
B. How much charge flows thru in 2 seconds?
17. A. On the graph draw the o
function for a long wire = 2
16. A. What is the that follows Ohm’s Law. £ &
equivalent . S &
6V . resistance of the B. Draw a dotted 11n(=j tol ' ~A
30 —— three resistors? §how that same wire if it i
4Q is made longer. Current
18. Conductor vs. Insulator?
A. ___ Has high resistance.
B. What is the total power generated by the battery? B. ___ Hasalot of free electrons.
C. ___ Allows current to flow easily.
D. ___ Electrons cannot move easily.
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1. Decide which of the wires has the most resistance.

A. A wire at 5°C OR a wire

B. A thi re OR a thick 2cm wire.
C. A thick 2cm long wire OR @ long wire?

D. A wire made of silver OR a wire made ?

2. What do we call a substance with no resistance at very
low temperatures? Superconductor

3. What is the unknown

mA
l / 2mA current coming out of
3mAS the junction?

?l NasmA 1S -8= FmA

4. Series or Parallel?
A E Devices have the same voltage.

B. = Resistors connected this way takes less current
from the battery.

C. ’Q_ If connected this way the light bulb with the
least resistance is brightest.

D. ' Resistors connected this way will draw more
current from the battery.

E. E Devices have the same current.

F. § If connected this way the light bulb with the
greatest resistance is brightest.

G. [ Occur after a junction.
5. Ammeter, voltmeter, or ohmmeter? =~
B
A Meter A: V/ D. Meter D: /t qy X2
B. MeterB: A E. MeterE: © _
C. Meter C: \/f F. Is very fragile. /% gy ——— & 5% Fr 0
G. Ts placed in series. A T v \1/
H. Is placed in parallel. V Lo Ohms B 2 25A 35 60 @)
I Will not work if a battery is connected. R R
v 30 30
6. What does meter A read? © \/§ 4 2
7. What does meter B read? 37 < 72 A
ya ik
8. What does meter C read? =£2.25)=6"7>V oV ‘Q o
9. What does meter D read? ), A gé{ﬂ_

10. How much work is done by a 18 V battery to move 6 C
of charge?

|8V = M >

11. How long does it take a 100 W light bulb to use up
25 joules of electrical energy?

P mr= = 257
g Pt —_ S
= = 2 & oot LS SeC
Ly

12. How much current flows thru a 6 k2 resistor in 4 minutes
if it is connected to a 9 'V battery?

I:‘%é =3 c? :JOO]S_ﬁ— o IS\MAd

6,000
Hme does pel mathEN

13. A circuit is protected by a 20 A fuse. What is the
maximum charge that can move thru the fuse each second?

el
IS%‘(—{ W@:It;m@) ot (] Cou],

Zoft wmean s 2O C per Sel.

14. A 60 W light bulb is hooked up to a 120 'V outlet.
A How_lgig of a resistor isﬂzit‘?
o b ey —
= /lr& 2= v /P = 240 7L

B. How much charge flows thm in 2 seconds?

15. A 100 £ resistor has 0.5 A flowing thru it. How much
energy does it dissipate each minute?

Jov les P= =, SZ’C DU) 25
oS 6036%: 1@@\30‘—)‘16—3
L

o
From watts 25—

_LJF -
T=Te =12° - sa ® A=Ti)=
Yo Q= 2( L= coul
Sf]jt\j 16. A. What is the
equivalent
6V 6 resistance of the
G == 40 three resistors?
e faralie] ol
B sy e
gem ¥ F Ty s ey

=[3SLL
B. What is the total power generated by the battery?

p= v”/ﬂ - é%gg = 19, Sweltts

la mgepf‘ .

17. A ,
/LL;J-{' b Dt‘t‘?'ﬁ’)

On the graph draw the
function for a long wire

I@:
slepe  that follows Ohm’s Law.
Streigh b e
B. Draw a dotted line to
show that same wire if it

is made longer. yove f |
papve S loft

Potential

Difference
ko

Current

18. Conductor vs. Insulator?
Al i: Has high resistance.
B. <~ Has alot of free electrons.
C. < Allows current to flow easily.
D. T Electrons cannot move easily.




